Syntactic Theory WS09-10
Sample Solution

(a) Complete the lexical entries (including predicate galyforzag (saw) and
leren (teach), so that they correctly capture functional or anaplcontrol
(use English to test whether the verbs are raising or equi)

zag V (7 PRED) = 'see<(TsuBJ)(] xcomp)>(T oBJ)’
(TTENSE) = PAST
(ToBJ) = (T XCOMP SUB)

leren V (T PRED) ="teach<(TsuBJj)(] compP)(T oBJ>’
(TcomP SUBJ PRED = 'PRO
((T coMP SUBJ), ANTECEDENT) = (T 0OBJ),

(b) Provide the syntactic correspondences in the c-streictiMake sure all
nodes are annotated appropriately.
See page (3). Note that annotations of lexical properties defined as
answer to question (a) are now removed for reasons of space.

(c) Provide the f-structure of the sentence:



'see<(TsuUBJY(T xcompP)>(T oBJ)’

fg}[ANTECEDENThU

PRED
SUBJ [PRED janq
OBJ {PRED ’maﬂeﬂ
[PRED 'teach<(1suBJ)(T cCOMP)(T 0BJ)>"]
sB 00—
PRED ’child
xcomp | ©BJ h:INUM PL
DEF +
PRED ’'swim<(JsuBJ)>
COMP , ,
SUBJ f{PRED PRO |].-
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CP

c P
T=1 T=1
NP VP
dat
(Tsusj =| T=1
N NP VP \A
t=1 (tosy =] (Txcomp) = | r=1
Jan N NP Y \A
(1PRED) =’jan’ 1= (ToBy) = | =1 (Txcomp) = |
Marie D N zag \Y \%4
(T PRED) ='marie’ 1= 1= (TTENSE) = PAST 1= (Tcomp) = |
de kinderen. v
. (1 PRED) ="child’ leren _
(1'bER) = (1 NUM) = PL =1
zwemmen

(T PRED) = 'swim< (] suBJ)>'



(d) Annotate the PS-rules, making sure they could also caphe following
sentences:

...dat Jan Marie de kinderen leerde zien zwemmen.
...that Jan Marie the children taught see swim.
"...that Jan taught Marie to see the children swim’

...dat Jan Marie Paul de kinderen zag helpen leren zwemmen.
...that Jan Marie Paul the children saw help teachswim.
"...that Jan saw Marie help Paul teach the children to swim’

Tip: start with the first given sentence, and then see whettiditions or
changes are required to capture the other two sentences

cCPp — C IP
=1 T=1
P - NP VP
(TsuB) =] T1=|
VP — NP v’
(ToBJ) = | TXCOMP) = l | T=1
(TcompP) =
V’ — V
=1 (TXCOMP) = l |
(TcompP) =

NP — D N
(T=l) =1



